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Intro

Today we will 7”va learn 25 97 of 7310 'On
Some of the topics we will learn about include the following:

Some of the invalidations
for the four species

Some of the invalidations for the four species

How we know that o mn moa refers to the 295

How we know that
DD NIOD
refers to the 1015

Why some 51727 77 °vx are valid and some are invalid

The minimum required lengths of the species.

Why some
5man 0N
are valid and some not

How we know that may yy 91v refers to the o711

The minimum required
lengths of the species

How we know
that maD YD 9D refers to
the DTN

Some of the key terms and concepts we will learn about
include:

o1 - The twin-leaf. This is the middle double leaf growing ﬂun nb’, n

from the top of the 297%'s spine, and forming its tip.

7on - Deficient. If certain parts of the species are missing, they
may become invalid.

D>W M2 NI 521 DY 7377 77 - [ts ways are ways of pleasant- Dy]; ’:’7 n’:’7
ness and all its paths are peace. This 109 in *>wn, Proverbs,
D>wW P mMacm 5o

describes the 770, Anything the 77710 asks of us fits this

‘ definition.
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77w - the spine of the 2975 from which the leaves branch out.

X - The length of a standard 7R is six ©'nov, but there are
certain 1R measurements that are only five onov

mb DW - an accompanying name - when something is known by
a descriptive name and not just by its generic name.
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. So let's review...

The X continues with the next part of the 73w,
5109.. WK DOP]

If the top was clipped off; it is 5109. NI 99
RN7727 says only clipped is invalid, but

W1 p7oI - split is valid. »"w1 says split here means that the tips of
the leaves split open.

oD, . wNT BBP)

only clipped is invalid

but Yw> pTDI - split |
is valid

The xm) asks from a xn»92 that states;
mn, Sand T opY, PITO, YR, M0),
Bent, barbed, split, curved like a sickle, and hardened are all

7 Anrrrp

Posul. Apparently split is Posul? NDD 99 9N -
ROD 27 IR ‘l’:})'l: qqg;
DI TV Bent
The xn»72 is speaking of a 251> that was split like a tool with a b i akiefs)
forked end, shaped like a letter Y. But if it is merely split, the | ?“’
155 is 0> //0 o B;éé{g
S olit
» by v Py

2>

Curved like a szcl\lc
Inhintal
Hardened

W&@%[O&

Regarding - 55 o7 opy

N17 IR

1305 ROR IR R

NP2 PIARS DaR

The Lulav is only Posul if it curves forward. But if it curves
backward, that is a natural form and it is Kosher.

M PI95I PTTRD 1M1 2T IR

T PINRDI 1D IR

1117 says if it curves to the side it's like it curves forward, and

is 9100 - Others say that it is like it curves backwards, and is
Kosher.

X319 MN Back Side

1305 NON 1N NY g
e g

1INNS Han
?wf/f Ny A2 QJ

WMQZ rm/
fMWmeW/gW _

119 "N 11373 2 N

MTIANDD 1T 1nEha pmed

fjoo Curved Sidewayt
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N33 IOR)

RX177 712 Y07 RIS N

51001 R O HYa

A Lulav, which, as Rashi explains, 7nx 731 75 Yow - its leaves
are all on one side - is S109.

The X3 continues to explain the wn.

5100 1YY 1379)

Ifthe leaves were ripped off; it is %109,

W Y 1779]

TOYROD NN MR AT 727

If the leaves were separated, the X»p Rin says it is 7w, but
AT ©9 says you must tie it together at top.

RO 27 IR

N9 YT IXI0]

PTIIOR TIORT 1770)

When the nwn says 5p 13793, it means that the leaves
were completely detached, and tied back onto the spine
like an old-fashioned straw broom.

15 17991 means that they are still attached to the spine, but
they are spread out like tree branches.

RO 17V

nieRaialaiabalpligh

If the center twin-leaf was split in two, is the Lulav Kosher or
Posul?

The R 1) tries to bring a proof from 15 12 ywi '3 who said if the
nPPNN YV - it was missing, it is 709 - so the same rule must
apply ifit's split.

However, the X differentiates - If the n»yn is missing, the
Lulav is 7on - part of it is missing, and therefore, Posul.
However, if it is merely split, perhaps it is Kosher.

In another version 1% 12 ywi " explicitly said;

21091 PN P01V 13 WYI TP RN -

If the nnrn was split, it's as if the n»yrn was removed, and it’s
5o8.

perhaps it iy Kosher
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‘ We return to
W PHY 17703
TOPHON NN IR AT 727 eV
If the leaves were separated, the X»p Rin says it is w3, but 9 A\
7T says you must tie it together at top. lamitaii=N| 19‘71’ 197983

The Braisa explains; AN
190 I DIWN IR AT I ‘:ﬂasq
onn mod, which literally means branches of the palm, but can

also be read as u ﬂ‘?l)?b‘??b

mod(kafus) - tied up - to teach

; DX - i it up. )
N9 T 7N DR - if it was spread apart, you should tie it up P 23750 %

//07{’7 PIN
=kany=bniknjl =

y@y 3/20 DD pPE

The X3 next explains why we identify omn mod as the 2915,
by eliminating other possible parts of the palm tree.
DN Mod cannot be referring to:

RmMn - a hardened branch, because - ‘ > r“g:
N9 oD RYY3, it must fit for tying, ‘
It cannot be i ‘ X
RNON - a log from the trunk of the tree, because :

. TV TN R TIID RRT Do miod - 4 WW%M?M RmAn
mod implies that it could become separate. The log is perma- : RN A/ £V
nently in a state of tied, and can never separate. X
It cannot be o &5’ NPDIN

SMYI N> £ 3/20 o3 g// -

X1913 - which w1 says refers to a palm shoot that has begun to
harden but could still be tied back - because,
DOW M2 NI 521 OV 37T T -

X

The ways of the 7 are pleasant, and all of its paths are peace. WV shoot that

A N7910 has thorns, and it would be unpleasant to hold it. b to hardern,  NIDVD
It cannot be /o/ﬁ 3)_//)/,3/{)/ ,g/ /oz/y 292 DI
PN 03 NN - , and i wnploasant to hold it
Two clusters of dates which are referred to as *03, similar to Tt hay thorns, “wp

Do hesause 2 clusters of detess *VANT B3 NN
NN - > >
The moo spells mo> without the ‘Vav’ - which can be read as , ,

193 (kapas) - in the singular form of the word, not two of | the W %W mw 0% the: word X
anything. I

It cannot mean 2 cluster o% dates N NSNT DD NN
X717 - one cluster of dates, because, >/ p 49 ) /

5P 92 RIAMD -

One cluster is called 95 - not mod.

Therefore, we must identify o mn moa as the 255, a flexible
palm branch.

Wrefar&, we must w/mfﬁ/ PN NI
ay z‘/w»//— a/%/@céél?y/a@[rw branch
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The X2 continues and explains the next phrase of the mwn.

MW 51927 9708

The palms of the [ron Mountain are Jw>.

IR IONR

50 197D T35 Va0 1 HW TWRIW ROR 10 RS

5109 7 S0 117 735 v 7 YW TwRT PRSI

These Lulavim are Kosher only if the top of one leaf reaches the
base of the next leaf. If not, they are 5109,

The mwn concluded;

WD 12 Y15 70 ONov TWHW 11 ww ad

A Lulav that is three o'nov long, to shake it, is Kosher.

The Gemara modifies this measurement, based on the follow-
ing teaching:

SRIDW IR AT 27 MR

TUSW 727V 0T W

IR I

n9L DT P2 RV 292 RPW 7D

The m27» 0’077 must be at least three nov long, and the 2915
must be at least four o’nov in height, so that it will protrude at

least one nov above the M2 0O

AP %27 R 99 12

A9V DTN 2 RY'W 7% 299 S 1770

The SPINE of the 29 must extend a nov above the o771

Based on this teaching we must read the Mishnah as follows:
onov MHw I ww N

W12 VI T

A Lulav that has three o°mov in length, PLUS at least another
nov - by which the shaking of the Lulav will be noticeable - is
Kosher.
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vIRT the mwn:

5100 NNTIA Y S IR S 5100 WM M 070

A stolen or dry ©777is :109. One from an 77w or an NATIA Y is
509,

The reasons for these disqualifications are the same as for the
Lulav.

The Gemara cites a Xn»72 which identifies the ©77.

The Posuk says;

51373701 TAY PY 301 DN M 77 Y 779 PWRIT 0P 035 onmph
These phrases refer to the 0’»» »19X - The Four Species, known
as;

MW DoAY NINR -

The phrase may y 91v - a shoot of a braided tree, refers to the
o'o77, which are

13V NN PO oY - the leaves cover the branches by overlapping
each other, giving the appearance of a braid.

It cannot be referring to

RI’7 - an olive tree, because,

R9 MaY Y3 -

It needs to be plaited, which is like braided, and the leaves of an
olive trees are not like that.

It cannot be

R2517 - a chestnut tree, because,

RH11XY IR POIN POV VI -

We need to have the leaves covering the branches, and the
branches of the chestnut tree are not like that.

It cannot be

9771 - the Hirduf branch, because,

RD1 0P 7277 27T VIR MWR

The Hirduf'is prickly and not pleasant to hold.

127R DSV DR R IR K17

The oo says - Love truth and peace - and the Hirduf'is
poisonous to animals, and a contradiction to truth and peace.

5109 MY IPRWI TWI MY PY RN

A oTnwhichis

nowWSWS T YR P VISP -

Plaited like a braid and similar to a chain, by overlapping each
other - is Kosher. If it is not so, it is Posul.

may »1n

AT 27 IR

RIP2 7970 RPN RNON H7PT RN

Clusters of three leaves each come out at the same level along
the stem.

TMOINYOR MR RITI T -

Even if only two come out on the same level, while the third
comes out a bit lower - but it does overlap the other two leaves
- itis also Kosher.

»R called this a now ©77, a deranged myrtle, and it is Posul.
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POV 7MW

WO VWNH I IIVN

nEYRIMAY RANW 7152

If most of the leaves fell off, and only the minority remain, it is
Kosher, as long as it still appears plaited. This apparently
contradicts itself, because if two of the three leaves fell off; it
cannot appear plaited.

Therefore, the Gemara says, this can only be speaking about
INIX NON -

Translated as a border myrtle, or a an Egyptian myrtle,

RIPP TN VIV VIV D7PT

RN5N N2 WO YR 1IN DT

It has seven leaves in each cluster. Even the majority, four

leaves fall off, there would still be three left to form the plaiting.

»aR adds that there is no issue of

m> 0w, an added description, because,
D112 521 RIDAT DR MY Y -

Any plaited branch is acceptable.

The x) also cites a k172 that says a ©77 with mostly dry
leaves but at least three stems remain moist is 7> as long as
those three are at the top of the branch.

There is a major Machlokes Rishonim as to the vwo of this
Gemara, which is beyond the scope of our review.
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it cannat appear plaited (g
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1/ Pl
i not a//zroéfen«y here, because. . .

PPN g/‘/ - > 7/%/)/»[/%/

An?2

A DTN with mostly dry leaves
but at least three stems remain moist is W2
as long as those three
are at the top of the branch
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